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Section A

Questions 1 1o 15 carry 2 marks each. For each question, four options are
given. One of them is the comrect answer. Make your choice (1, 2, 3 or 4).
Shade the oval (1, 2, 3 or 4) on the Optical Answer Sheet.

(Total: 30 marks)

1 10 thousands and 3 tens is the same as

(1) 103 (2) 1030
(3) 10003 (4) 10030

2z Complste the following number pattern.

6, 10, 14, : , 28, 30
(1) 15,16 ) 15,25
(3) 18,19 (4) 18,22

3. 43 239 rounded to the nearest hundred is

(1) 43200 (2) 43230
(3) 43240 4) 43300

4. How many one-thirds are there in 2 wholes?

m 1 )
3 3 4)

N =
D wlin
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5. In the figure below, which angle is greater than a right angle?

(1) «a 2 «b
) <ec 4) «d

6. In which of the following numbers does the digit 6 stand for 6 tenths?

(1) 13862 (2) 24.18
(3) 6584 4) 7649

7. Find the product of the 9 multiple of 8 and the 6 muttiple of 7.

(1 114 (2) 432
(3) 1728 (4) 3024
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10.

Isabella packed 3139 sweets equally into 9 boxes and found out that 7
sweets were left. How many sweets were there in each box?

(1) 348 (2) 349
(3) 350 (4) 448

A jug contained 1:'- I of water at first. Rosy poured another % I of water

into it and %Idwateroverﬂomd. What was the capacity of the jug?

1
1y 11 @ 1 % !
5 7
3 1 12 ! (4) 171'5 !

A pole was 2.3 m iong. 1.75 m of the pole was painted blue and the rest
was painted white. What was the length of the pole that was painted
white?

(1) 055m (2 065m
3 145m 4 155m
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1.

12.

13.

The mass of a box containing 5 identical soft toys is 3.6 kg. The mass
of the empty box is 0.75 kg. What is the mass of each soft toy?

(1) 0.57kg (2) 0.72kg
(3) 0.87kg (4) 285kg

The figure below is made up of 2 identical squares.
The perimeter of the figure is 126 cm.

K

What is the length of 1 side of the square?

(1) 18cm 20 21cm
(3) 36cm @) 42em

A television programme started at 10 55 and ended at
was the programme?

(1) 28s 2) 68s
(3) 1680s (4) 4080s
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14.  The line graph below shows the amount of water used by Mr Tan in the

last 6 days.
Water used by Mr Tan
55 o 1 e A i AR e b o B e ———————
50 -
45
s 7/___ N
UWater I8 oo iy
sage ) N/ 5
g .
54— —
10 i en o
5
0o —r—— et S + - b =i

Day 1 Day2 Day3 Day 4 Day 5 Day 6

How much was the greatest increase in the water usage?

() 5S¢ ) 101
(3) 201 (4) 501!

15. The table below shows the top 3 favourite food of Primary 5 pupils in

Happy Primary School.
Food Number of Girls Number of Boys
Chicken Rice 42 80
Noodles ? Vs
Fish and Chips 40 46
Total 140 160

How many pupils iike to eat noodles?

(1) 54
3 112

(2 &8

4 121
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Section B
Questions 16 to 35 carry 2 marks each. Show your working clearly in the space
below each question and write your answers in the spaces provided. For
questions which require units, give your answers in the units stated.

(Total: 40 marks)

18.  Some factors of 18 are 1, 2, 6 and 18. What are the other two factors of
18?2

17. Whatfmdionoftl’ne@ shown are grey in colour?

® & ©O
®.

e——————

Answer :

29
18.  Write = asa mixed number in its simplest form,
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19. Find thevalueof 1 -

@ |w
|

Answer ;
20. Measure and write down the size of Zx.
X
Answer :
21, 74-086=
Answer:
7
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22.  Find the value of 6.17 x 9.

Answer :

23. Round 54.55 to the nearest whole number .

24.  Amange the following numbers from the smallest to the greatest.

-g— , 0.605 , 0.065

Answer : i
(smallest) (greatest)

www.testpapersfree.com



25. Faizal saved $2809 each month. How much did he save in 7 such
months?

Answer : $

26.  Nelly was facing the mall at point X at first. She then made an
anti-clockwise turn and ended up facing the school. How many degrees
anti-clockwise had she tumed?

schLol

mPII
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27.  Using a protractor and a ruler, draw ZABG = 110°. Mark and label

the angle. The line AB has been drawn for you.

28. The square grid below shows some of the locations in TownY.

pArk 1

—..._.-—...pz

libirry k

John stood at one of the locations in Town Y. The frain.station was to
John's North-West and the hawker centre was to his East. Which one
ofﬂnbmﬁonshTownYdidJohnstamm?

Answer :

10
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29.  In the figure below, PQRS is a rectangle. Zcis twice of Zaand Lais
15°. Find the value of Zb.

P, Q
c
b
s a R
Answer : °

30. Inthe grid below, one side of a square is drawn. Complete the square
by drawing the other sides of the square in the grid below.

1
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31.

32.

In the figure below, there are 7 shaded squares. Shade 3 more squares
to form a symmeitric figure with AB as the line of symmetry.

The table below shows the number of pupils in some Primary 4 classes.

Class 4A 48 4C 4D Total
No. of pupils 32 36 ? ? 143

There are 15 more pupils in 4D than 4C. How many pupils are there
in4C?

12
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33.  The area of a square is 81 m? What is the length of the square?

Answer : m

34.  The figure below is made up of Rectangle A and Square B.
Rectangle A has an area of 136 m? and Square B has sides of 8 m. Find
the length of the figure.
A B IB m

A
4

35.  The figure below is made up of 8 identical squares and Rectangle B.
The breadth of Rectangle B is 10 cm. Find the area of the figure.

— 8 lIﬂ)cm

L[]

13
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Section C
Questions 36 to 37 carry 3 marks each and questions 38 to 43 carry 4 marks
each. Do these word problems carefully. Show your working clearly in the
space provided for each question and write your answers in the spaces
provided.

(Total: 30 marks)

36. Zalman had 51.8 kg of rice at firsl. His mother gave him 3 times the
amount of rice he had at first. He then packed all the rice into 7 equal
packets. What was the mass of each packet of rice?

Ans: [3]

37.  Zhao Wei started driving from Singapore fo Kelantan at 07 30. He drove
for 4 h and took a 1 h 15 min break. Then he drove for another
5 h 16 min before he reached Kelantan. At what time did he reach
Kelantan? Give your answer in 24-hour clock.

Ans: [3]

14
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The figure below is made up of 5 identical rectangles. The length of
ABis 8 cm and ZDFE =45°.

a)  Find the length of BD.

b) Find £CFD.
B C D

4

- pd

Ans:  (a) 3]
®) il

15
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39.

b)

d)

The line graph below shows the number of cups of tea sold at Jolly Shop
over a week.

Sales of tea at Jolly Shop

ELEBRGS
o g

Number 27

ofcups 24

of tea 21
18 -

sold 15 fomo.
12 e e e
9 e e e e i e 3 —e——— e P
6 il L s i R o s
3 e =
0 o e e - e . e e i ——— -+ W ey i e

Mon Tue Wad Thu Fri Sat Sun
On which daydidtheshopsellthelemtnumberofcupsoﬂea?

Ans: 1)

On which day was the sale of number of cups of tea thrice that of
Thursday?

Ans: (1]

mmtwasmetotalmmberoprsoﬂeasold on Saturday and
Sunday?

Ans: (1

What was the decreass in the number of cups of tea sold from
Wednesday to Thursday?

Ans: &)

16
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40.

Letchmi bought some pens and some pencils. The number of pencils
bought was 3 times the number of pens bought. The price of each
pencil was $0.80. The price of each pen was twice the price of each

pencil.
(a) What was the price of each pen?

(b) She paid a total of $24 for the pens and pencils.
How many pencils did she buy?

Ans: (a) (1]
(b) {3

17
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41.

Keith and Richard had the same number of toy cars at first. When Keith
gave away 112 toy cars and Richard lost 70 toy cars, Richard then had
4 times as many toy cars as Keith. How many toy cars did they have

altogether at first?

Ml

18
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42.  Study the figure below. The area of W is % of the area of
1

Square ABCD. The area of X is 5

the area of Square ABCD.

A B

(a) Theareaof Y is the sum of area of W and X.
What fraction of Square ABCD is Y?
Leave your answer in the simplest form.

(b)  What fraction of Square ABCD is Z7
Leave your answer in the simplest form.

Ans: (a) 2]
(b) 2

19
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John did a quiz with 20 questions and attempted all of them. For each
correct answer obtained, he got 5 marks. For each wrong answer
obtained, 2 marks were deducted. He scored a total of 65 marks. How
many correct answers did he get?

Ans: [4)

END OF PAPER

20
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SCHOOL ; NANYANG PRIMARY SCHOOL
LEVEL 3 PRIMARY 4
SUBJECT : MATH
TERM : 2017 SA2
CONTACT:
SECTION A
Q1 Q2 | Q3 | a4 Q5 Q6 Q7 Q8 Q9 | Q1o
4 4 1 4 3 1 4 1 2 1
Q11| Q12 | Q13 | Q14 | ai5
1 2 3 3 3
SECTION B
Q16 1 Q7 Q18 Q19 Q20
9and3 | 5/8 7 1/4 38 140
Q21 Q22 Q23 Q24 Q25
6.54 5553 55 0.065, 0.605, 3/5 19663
Q26) 270
Q27) S

Q28) bank
Q29) 15% 2 =30
30+15=45
90-45 =45
| Q30) - —]

Pg1l
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Q31)

Q32

32 +36 =68
143-68=75
75-15=60
60/2 = 30

Q33)

9

Q34)

136/8 =17
17+8=25

Q35)

5x4=20
5x3=15
20 x 15 =200 + 100 = 300

Q36)

51.8x3=1554
155.4 + 51.8 =207.2
207.2/7 = 29.6kg

Q37)

1801

Q38)

a) 8/4=2
2cm + 8cm =10 cm

e

b) 90 -45 =45

Q39)

a) Thursday
b) Friday

c) 42+36=178
d) 30-15=15

Q40)

a) 1pencil = $0.80
1 pen=3$0.80x 2 = $1.60

b) 1u for one = 2u for pencil
$24/5 = $4.80
$4.80/$0.80 =6
6x3=18

Q4)

3u> 112-70=42
1u > 42/3 =14
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14x5=70
70 + 70 =140
140 + 112 = 252

Q42) a) 1/6 = 4/24
1/8 = 3/24
4/24 + 3/24 = 7124
b) 4/24 + 3124 =7/24
7124 + 7124 = 14/24
24/24 - 14/24 = 10/24 = 5/12
Q43) Correct | Add Wrong Add Total Check
B 20 20x5=!(_}(-) 010x2=0 100-0 =100 X
15/15x5=175 5(5x2=10 75-65 V
|
Ans : 15
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